MCJA #5R 2]

H

N

EE (AR ) mBEI

®

s
F
i
B

®

B
3
=
B

(@

=
2
\mid
)

%

©

FEEEHIE
(LRI
2 IHEAGR

MCJA — 42 — 40 — 25x25 M —

mindman

KK

5% MCJA-4*
fEE) /=K HEERY PR 5 AR wER
SUELPIEE (mm) 12] 16 20| 25| 32] 40|50 63 80 [100
RO AR~ M5x0.8 Rc1/8 | Rel/4 | Re3/8
e Z24R,
i FEE S #8 | 0.05~1 | 0.03~1 0.02~1
fi# (MPa) sy | 0.2~1 [045~1| o04~1 [ —
iR S 1.5 MPa
JEI B —5~+60°C ( A )
58 P Sl 50~500 mm/sec
RS (%) RCE &, RCE1 &, RDEP &

* RDEP{EE A 212~050 °

[l

| I =

BUSR RELARE M: [fREA

4: EEGER TE1x {1782

712 1 B THR
1712 2: B BHTIE

E—
1EEN 5/ 1R im e B

5 TR
4|1

B
HEEINF

4|2 HEIRAF

4(3 5 IA BN

5 A BB

B

Eiilant ks

SRR
WS — MCJA—-3—-40
| | T T

FRE BigR ZuUBEE RIRRE

* Bl MCJAZRY 2 W e AU AL FHC R -
* S SEL S 220~100 ©

M mindman

[=ml s
4 - M5x0.8
(M H 212~025)
#£:Rc
G GH
NPT: NPT 7
(i 932~2100)

BRI - FHETIER

T o BRATAE (mm)
RAELAE 1772 (mm) o | B
212,16 5,10,15,20,25,30 130 300
220,25,32
240 50 63,80 5,10,15,20,25,30,35,40,45,50 130 300
2100 5,10,15,20,25,30,35,40,45,50 125 125
* IR TR R B A AL -
[=1 3 A
FREHRY — fErTRER
SRR 712 (mm)
812,16,20,25,32,40 5,10,15,20,25,30
250 5,10,15,20

* IR TR R B

AT A -


https://www.mindman.com.tw/proimages/pdf/C_RCE.pdf
https://www.mindman.com.tw/proimages/pdf/C_RCE1.pdf
https://www.mindman.com.tw/proimages/pdf/C_RDEP.pdf
https://www.mindman.com.tw/proimages/pdf/C_special_specification.pdf
https://www.mindman.com.tw/proimages/pdf/C_Rod_end_shape.pdf
https://www.mindman.com.tw/proimages/pdf/c_technical_data.pdf
https://www.mindman.com.tw/proimages/pdf/C_Precautions.pdf

MCJIA WihsRE R % — Sy

ER (AR ) mEEEL mindman

EEhE B B A EEp5| AR

?'lih" AN\CUhUd0 oy
I i ik
ST R, ———
''''' EF—H} — L B —}

1R NP A

EHE - BEERAIE R

IR IR MER | wEtE REEYICOEODOOOORNEE
| m | | sAm | omm | mem S0 B 7 CRNUI/// E
PR 2 0 7 2 2 4 7
212 KSYR-6 - KSYR-6 OPA-12 OPA-12 S-12 d4xw1 B — oy —
216 KSYR-6 - KSYR-6 OPA-16 OPA-16 S-14 d4xw1
220 KSYR-8 = KSYR-8 | OPA-20 OPA-20 S-18 d6xw1 i =1\ E—— T — = — EI}?
225 KSYR-10 - KSYR-10 | OPA-25 OPA-25 S-22 d8xw1 é
232 KSYR-12 — KSYR-12 | OPA-32 OPA-32 d28xw2 S-9
240 KSYR-16 - KSYR-16 | OPA-40 OPA-40 S-36 S-9
250 KSYR-20 = KSYR-20 | OPA-50 OPA-50 AS-31 S-16
263 KSYR-20 — — OPA-63 - AS-35 S-16 STHE/
280 | ORA-25 - — |opPasgo - AS-41 | d20xw1 ”THA%TJ‘F)E
2100 | SDR-30 — — OPA-100 — S-95 S-26 Z< = @]‘%E*)I’{,:F
pri | R e
212 | CP-MCJA-4-12(M)
FEEME 216 | CP-MCJA4-16(M)
e 1 raae | & 220 | CP-MCJA-4-20(M)
No &1 12| 16| 20| 25|32 |40 | 50 |63 |80 [100] m | LTE )| THEY 025 | CP-MCJA-4-25(M)
1 |B&E e 2 o 232 | CP-MCJA-4-32(M)
2 | LA C AU (i ) [Rossl] kM | RomeM | B 2 o 240 | CP-MCJA-4-40(M)
3 [mrEm NBR 4 ° ® 250 | CP-MCJA-4-50(M)
4 |fEmEEy - | NBR 4 [ [ 263 | CP-MCJA-4-63(M)
5 |IHIEHE NBR 2 o [ J 280 |CP-MCJA-4-80(M)
T NBR 2 ® o 2100 | CP-MCJA-4-100(M)
7 |iE%E fareeid 2 [ ) M: Ffh:
) i S T4 SCM 2 ° eI A
8 |PEEERS Qw2 room T L4 SCM 2 ° ErEt
o | i -1 T TR (BEREaRIET ) 2 PO e
TR oM (Bt aRET ) 2 912 | PS-MCJA-4-12
10 | Ap FEEe 2 216 | PS-MCJA-4-16
N | ISEEEER NBR 2" [ ) [ J 220 | PS-MCJA-4-20
12 | FilEs e 2 [ J 225 | PS-MCJA-4-25
13 | iGENHE - | &S & 2 o 232 | PS-MCJA-4-32
14 | EErEs A 2 ) 240 | PS-MCJA-4-40
15 | 44T SWP — 2 [ ) 250 | PS-MCJA-4-50
16 | IHEF ARG — 2 [ J 263 | PS-MCJA-4-63
17 | AiE g T E$i{ SCM 2 280 | PS-MCJA-4-80
18 | LA C AUHIR (#&) N | T 2 ® 2100 | PS-MCJA-4-100

>
»

1 E A SRR - BT I - 2. TEBSCM "3, FEAt 4. FBNFLA - (5 o8k b RN =0 -

M mindman

&



MCJA SHER~F — 56 / $HE%Y o12~0100

3 1 3 =B -
EE (RH ) mEEL mindman
212,216
ZB+ 17HE 1+ 17HL 2
| ov 2-N ~ ~
A H S+1712 2 S+ 17121 H
c 4-EE c |
SRS H /) ‘
I S
Qe Br——+-1+———18 5
SRR x 2 T o
w2 o o olf
K
PA PA | PA PA‘
I
ZB+ 172 1+ 1712 2
H S+ 1714 2 S+1THE 1 H
4N
4-gM B3
4-EE
2xKK —

aoF

* AREIEE SR A TR —

TR B BRTRE TR 20 SR

% Jam[aa[ c [p| e [E1[E2[F[e | H [H1]K m pp oL EfR IR EL
12 |10 12 |1 | 6 |mMsx08 |163|23| 5|11 ] 5 |17 | 3 WY + PR3 100mm
16 | 10 | 12 |15 | 6 |M5x08 |198 28| 5| 11| 55|175] 3 AQ RURER - 477243 110mm
20 | 13| 15 [15| 8 [M5x0.8 |24 | — | 6| 15| 55|205| 3 AM ——
25 | 15|17 |2 |10 [M5x08 |28 | — | 8| 17| 6 |23 | 3 8\ i 912~2100
32 | 15|18 |3 |12 [Re1B(1)[34 | — |10 | 22| 7 |25 | 3 I
40 | 25|28 |3 |16 [Reti8(1)a0 | — |14 |28 | 7 |35 | 3 Il 76% B /
50 | 25|28 |4 | 20 |Re1/4(2)48 | — |17 |38 | 9 |37 | 3 | |~ [ ——
63 | 25 | 28 |4 | 20 |Re1/4(2)60 | — |17 |40 | 9 |37 | 3
80 |30 | 335 |25]|Re3B(3)|74 | — |22 | 45|11 |44 | 4
100 | 35|38 |5 |30 |Re38(3)lo0 | — |27 |55 [12 |50 | 4 all
*1. NG TRE R 5mm [Ef » EE=M5x0.8
*2. NHREFTRE B 5mm K » EE=Rc1/8
*3. R TR B 5mm f - EE=Rc1/4
zz KK LH | M N (EEL) PAIPB| aQ |T|v|vi|x|Y]|z Z;Mm;% ?Mfs
12 | M3x0.5x6 7 — | 4.3[06.5x4.5 7 , M5x0.8x7.5 % 65|6 |M5x0.8 | — | 25|32 | 32| 631 |17 | 44|27 | 64
16 | M3x0.5x6 ¢ — | 43| 06.5x4.5 % , M5x0.8x7.5 % 7 |65 |M5%x08 | — | 29|38 | 32| 631 |185| 48 |285| 68
20 | M4x0.7x8 B — | 43 06.5x4.5 % , M5x0.8x7.5 1% 75| — |[M6x1.0 | — | 34| — | 32| 631 |195] 50 |205| 70
25 | M5x0.8x10 % — | 5.1 09x7 %, MBx1.0x10 % 8 | — [M8x125 | — | 40| — | 42| 78[1 |21 | 54|31 | 74
32 |M6x1.0x12% | 48.5| 51| 09x7 %, M6x1.0x10 % 9 | — [M10x125 | 14 | 44| — | 42| 7.8[1 |245]| 63 |345| 83
40 |M8x125x12 7% | 56.5| 6.9] 010.5%8 7 , M8x1.25x12 7 10 | — |M14x15 | 14 | 52| — | 6.2|10.3| 1.6 |26 | 66|36 | 86
50 |M10x1.5x15% | 70 | 6.9] 211x8.5 % , M8x1.25x16.5 F 10 | — |M18x15 | 19| 62| — | 6.2[108|16 |28 | 74|38 | 94
63 |M10x15x15% | 83 | 6.9| 011x8.5 % , M8x1.25x16.5 Z 12 | — |M18x15 | 20| 75| — | 62[108]16 |32 | 82|42 | 102
80 |M14x15x20 % |102 |10.5| 214x10.5 ZE , M12x1.75x12 7 13 | — |M22x15 | 27 | 94| — | 82[138]16 |41 | 104 |51 | 124
100 |M18x15x20 %€ |122 |12.3| 018.6x13 % , M14x2x17 & 17 | — |M26x1.5 | 26 |114| — |102[17.3]2 |51 | 126 |61 | 146

M mindman



	1_規格
	2_內部構造及主要零件
	3_內牙型 / 外觀尺寸φ12~φ100

